
Altitude: A perpendicular segment from a vertex to the opposite side

Obtuse Triangle

a = altitude

Orthocenter- is the intersection of the three altitudes

Obtuse- the orthocenter will be on the exterior of the triangle

Acute- the orthocenter will be in the interior of the triangle

Right- the orthocenter will be on the triangle

Median: a segment that has endpoints at a vertex and the midpoint of the opposite side

Midpoint =  
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Centroid: the point of intersection of the three medians
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Ex 2 In       G is the centroid. BD = 15 and GF = 8. 
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